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0~9 100 101~109 200 201~209

10 11~19 110 111~119 210 211~219
20 21~29 120 121~129 220 221~229
30 31~39 130 131~139 230 231~239
90 91~99 190 191~199 290 291~299
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5. h==0, t==1: 10 ~ 19: | & gefpz 1 (Fpa - 1)
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8.0<n<999, n==>h*100+t*10+0

h=n/100;
t=(n % 100)/ 10; switch (0) {
0=n% 10; case 0: printf(*%™); break;
9. ﬁjm e case 1: printf("— "); break;
case 9: printf("-"); break;
}
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v0|d printMandarin(int o) {
switch (0) {
case O: printf("%™); break;
case 9: printf("]-"); break;
}
}
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const char *mandarinDigits[] =
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printf("%sF 1", mandarinDigits[h]);
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